
Q̇x − Q̇x+dx − Q̇conv + ϕ̇′′′ = 0
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−m2 T + nsin(kx) = −n sin(kx)− ϕ̇′′′

λ

Homogeneous solution:

TH = Aemx +Be−mx

Particular solution:

Tp = C1 + C2sin(kx) + C3cos(kx)

−C2k
2 sin(kx)− C3k

2 cos(kx)−m2C1 − C2m
2sin(kx)−m2C3cos(kx) = −nsin(kx)− p

To find the C1,C2, and C3, the coefficients at the l.h.s. must be the same
with the coefficients at the r.h.s. To determine A and B in the homogeneous
solution, two boundary conditions are used: First at x = 0:

−λ
dT

dx
= 0

Second at x = L

−λ
dT
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= 0
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